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GS/1G/101 (4)
g A
Part A 236385 20805
DO, @& RE O
General Mental Ability, Administrative and &565 500@5_;3§U‘23§5 o)i)@egt&_\)
}).‘ - . SHEPN & >
sychological Abilities s S Sy T 1,26,588836 50% Q3¢
1. Ganesh donated 50% of his saving of|1: % HBA  WADS
5 1 o ea S8 DO YOI Q%)
¥ 1,26,588 to Ayodhya Trust and he invested (ALY b o°D8 10% 15(_§3§é§
.the rest of the amount at 10% compound &), “)S J £5805) =50 50
Interest per annum, separately for his children DEDAT B DR §e)o% o&S
Krishna and Veda in such a way that when 2epnG . 18 D0dedHTED o
they attain the age of 18 years, they would h&aTes, o 0% & 2.3 3333_,\/ 5
receive the same amount. The age of Krishna 0CNZ0ET. gy 308 ‘;5053‘:1)*3
is 13 years and that of Veda is 11 years. Then 13 Hodesyoren  HOASD 3 SO
the amount invested for Veda must be : 11 HoXSIoren. @) 3 o
(1) ¥ 28,204 SHISHOT RN ) 2638 Jw&o
(2) < 28,640 (1) T 28,204
(3) < 26,840 (2) T 28,640
(4) < 28,460 (3) T 26,840

(4) T 28,460

2. Find the Mean of the following data (correct to
: 2. & 808 &0 HP§HT ), NV lele

two decimal places) : ;

Variables Frequency (BOY &SF°0% @:ﬁ‘@é\) Xséégtﬁoé) :

15 — 25 4 ZJoohewdS) | iﬁéz@égoJ

25 — 35 1 . 15— 25 4

35— 45 19 |  25-35 11

45-55 | 14 35 — 45 19

55 — 65 0o 45 — 55 14

65 — 75 9 55— 65 0
1) 3926 65— 75
(2) 4026 1) 3926
o an @
(4) 4265 4) 4265
Find the number of triangles in the following 3. & L§O & Do & @325325‘@ B0
figure : SHMI0B {5 9 ‘ ‘

| N (o - Lf
P-and 7, — ’
N _=\Ad e
D \'5/)) _
AT N

W 3 @ 36 ¢ L N
@ 32 2 s T -
3 48 3) 48
4 52 @) 52
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4.

(

Each of seven boys named A, B, C, D, I, I and

G has an exam on a different, day of a week,

starting from Sunday and ending
of the same week. Only

exam betw

on Saturday

two persons have their
een C and A. B has his exam
1mmed1ately before E. C has his exam

lmmedlately before F. Only G has his exam
after A. Which of the following options

represents the correct match of a boy and the
day of his exam ?

(1) A:Thursday
(2) G :Friday
(3)  C:Tuesday

(4)  B:Monday

Consider the following Assertion (A) and

Reason (R) and choose the correct code :

Assertion (A) :
A person with AB*V€ blood' group is called as

‘Universal Recipient’.
Reason (R) :
A person with AB*V® blood group has A & B

antigens and Antibodies in Plasma.

Code :

(1) (A) and (R) are correct and (R) is the

correct explanation of (A).

(2) (A) and (R) are correct, but (R) is not the

correct explanation of (A).
(3) (A)is true, but (R) is false.

(4)  Both (A) and (R) are false.

5

(5]
A B, C. D, E, F 58050 G @0 %60 g
DM @ar oo’ (HE 2.6,68 v SOFY
3Bs& Bards H6% GOLNOE, ehHado

DOG  (TB0BD ©F oD 425
QOMHYOB. C B A erd) DG B0
R Ssverdy SFSD T6 HEE Lexcy. B
BEL SN0 E & H8E Loy, C )
VO F & H8E Lercy. A ST ses G %o
ST(ED HOY. Gonod. & 80d JoDEereS
DO ©Hon Twg), AT B HBASW
@& HBY Fard QDO ?

(1) A: DSRS0

@) G:HE>S0

3) C:Doisardo

(4) B:FHhado

808 B88e (A) HBAD S0 (R) e>
D0MeBotod  HBA® MBS FBD
QOHEOA :

B DSSED (A) :

AB™® 28 (D &) 358D EOWVANTRTO
BHDTHOE’ @0eres.

5890 (R) :

AB*™ & D &) 588 TS A & B
ASrod3BIen B asroederden
CEo°) ON.

&8 :

Y (A) 2O (R) DBSD HBA (A)
ARBEY OB DI (R).

(2)  (A) DHOAW (R) AT, R (A) Ty,
ABN DIBED (R) 5°AD.

(3)  (A) dz0, oS (R) 63y).

@) (A) B0 (R) BOKT ).
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. ~ @
T e . o s ] 51, O, B Sieds s
that would complet(; th’e given ﬁguivxir;tr;.o " iﬁifgi;?gg (‘;35, éc(\s (ij"zv? &D N
QoHE0A. ) - | o
¢
?
A B c \ D
1 B A B C D
(2 D
@) C S
(2) D
(4)  None of the above figures can complete 3 C

the matrix

4) D AT A STeh & I8 TAHBY

7. 63 8.0/00 Jo& (DASr30T 0T 2rS
QEJYRNR 1995 e DBy &S
FPILY0  BBS VAS  FEFSSHD
21 VERXS e, 157 &Y S
B S0TeFES YV & H5RBE HIS'
Ko&% 54 8M/Mo Jod (DSBS,

Vande Bharat Express travelling at 63 kmph
can cross a platform of Visakhapatnam
railway station which is 1995 m long in
21 seconds. How much time would Vande
Bharat Express take to completely cross (from

the moment they meet) Duronto Express

157 m long and travelling at 54 kmph in the DB0S JBJDV JOT TOTIE (T
opposite direction to it ? DD §£90 NH0B) S0TerES YR B0
(1) 8 seconds D0eH DNANO DO ?

1) 8 EW
(2) 10 seconds

(2) 10 W
(3) 12 seconds @ 12 ?\)é@
(4) 16 seconds 4 16 ?\)é@
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8.

3504
300 +
250 1
200 +
150 1
100 4

501

Study the following bar chart and answer the
question that is given below. The chart shows
the number of students that appeared for and
passed B.Tech. examination f{rom different
[ITs in 2024

Number of students who appeared for
and passed B.Tech. exam from different

IITs in India

250
180

0

nr OT OT Or  OT
Kanpur Madras Pune Tirupati Bombay

] Appeared ' Passed

The number of students who passed the
examination from IIT Kanpur and IIT Pune is

what percentage of the average number of
the
examination from IIT Madras, IIT Tirupati

students who appeared for

and IIT Bombay respectively ?

(1) 60% and 85%
(2) 64% and 90%
(83) 65% and 75%
(4) 62% and 90%

Read the below given statements followed by
Choose the conclusion which

conclusions.
logically follows from the given statements :

Statements :
All professors are doctors.
All doctors are engineers.
Some professors are lawyers.
Conclusions :
I.  All professors are engineers.
II. All engineers are lawyers.
III. Some doctors are lawyers.

(1)  Only conclusion I follows

(2)  Only conclusions I and III follow
(3) Only conclusions I and II follow
(4)  Only conclusions II and IITI follow

(7)

(o]

A vy & C > < s
0 DR e¢ionse Fh, gor
w PR A AOV)
(033 ) 80

£

G" L‘\‘;(DC‘)
) o S
CQO)J)?‘JCB(I:‘)

Y\ MR INTE
AJolI"CIQ0

202465 3y Bago%
o DC‘) ]") My A m 4 -
dﬁ&@g) :))0,_&1.0 ‘\f)(li('? B. I'ech. 5)65‘,5\)
DOMESy ol Sty GAWBS Do
P D0 Sy esrnd. o

o]
TEEBIS'D 92 11Te> S08 B.Tech. H8E80

ot
2B DB &BLHBS Do s Homs

350 4
300 ¢ 300
L 250 270
2501 910 Toos [ 2s0
2001 T | 180 200
150 + 150
100 1
50 1
0L ||
IT OT ©OT OT  0OT

SATI0 DTV FB DDHS 2roB

[ 55233858 B 6208350
IIT 52308 8w 1T I8 Hod H8ES
&BHBS oo Homs NIT  HTD,
IIT S5DS HOASW IIT 2702 Ho HOFH
FEBS ATEHO  DiLn  HosS Joeh

50 ? (5D 800 ) :
(1)  60% O 85%
(2)  64% NOA 90%
(8)  65% B 75%
(4)  62% O 90%

& 1808 DN (DZLIOD O
Hommrod  H508. a0 (DEIO

%08 @8LE0T @©HIB0T BTN
oS0k :
(DSOS :
D008 SE0gEN.
SE5O0GET BOBIT.
FoRS [ IL oD,
BT eV :

I | DI00REE 202,
II. 2023dP0REF oM.
II1. §0% I erOHWP.

1) ST80 I Sr(edad @0

2) &oren IH005) IIT Srr{ehad
AT oD

3)  SoTren I 000k I Sr|eeh
SNl IN oW

@) Soren I 80w I ST e
SNV ST
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10.

11.

(4 pr

Assume that you are the polling officer of a |10

polling station for the general elections 2024
and the polling booth is in an area where
Maoist prevalence is high. During the day of
polling a group of Maoists come and try to
disrupt proceedings by terrorizing the voters

and firing guns. What will you do ?

(1) Immediately stop the polling and inform
your higher authorities about the

incident.

(2)  Ask the police to resist the Maoists by

getting additional force.

(3) Inform the police force stationed there
and ask them to ensure safety of

important documents and EVMs.

(4) Ask your subordinates and voters to

revolt against the Maoists.

If a circle touching all the n sides of a polygon

of perimeter 2p has radius r, then the area of

. 11.
the polygon is :
p+n
@ 2r
(2) (-nr
(3 (2p-nr

. WWW.

My OIS DG 2024 S 28 o
DASk  FO0R @HEd @ Hibdsy
SrSond  Eraofo  D80pSm )
@osod @ o wrd ol
ardotsod.  FOOR  Berd  drSandpe
290050 3D, L8 Bahlerodiws
HOTAr STFHoE  sen)en 20D
sEsEerarodd e0éTrod0 EORoToH%y
(H0HB 0. 950 D D TF ?

1y So6S FO0F & eIV, HDoHE
500D N &I ETHTHH SOAD

Badso.
2) OO AN DOTOD
BS5ETEIED e85 &)

SFESTONDO DB0E30HINA TS b0.

(3) %% &) FO oTwdd BOAH
TOHGO DBAW  SNPFRN J(@en
20050 EVMe 3550 AT 8090
56 §8cho.

1)  SrSonOBy H§BVEomr Seren
FoHA D (80O FoN ATHON
B0 2,0 e&icdo.

r SPG0 Ko 28 H90 2p THEPTOE fo
2502028 Bogy @) IHed n d =S,
NI & 2IVZHE BE) JTOLO N0
)08 :

(y Ptn
2r

(2) (p-n)r

3) (@p- n)r

(4) pr
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12.

13.

14.

/1G/101

In a recreation club, Sam, Gautham, Nagesh,
Deepak and Anup were playing cards. Sam
says to Gautham, “If you give me three cards,
you will have as many as Anup has and if ]
give you three cards, you will have as many as
Deepak has.” Sam and Gautham together
have 10 cards more than what Deepak and
Anup together have. If Gautham has two
cards more than what Nagesh has and the
total number of cards be 133, how many cards
does Gautham have ?

(1) 35

(2) 45

3) 20

4) 25

The quesﬁon below consists of a figure A. You

have to find out the alternative figure from P,

Q, R and S which contains figure A as its

part: '
A | DAY
A P Q R S

1 P

2 Q

3) R

4 S

"In a certain code language, Bihar is coded.as

Uttar Pradesh, Uttar Pradesh is coded as
Punjab, Punjab is coded as Assam, Assam is
coded as Goa, Goa is coded as Bangalore and
Bangalore is coded as Sikkim. Then in which
state was an AIIMS inaugurated recently by
the Prime Minister of India ?

(1) Goa
(2) Assam
(3) Punjab
(4) Bihar

(9)

13.

14.

&

2.8 BIBGHNS §B S e, T, Siiny, HHE
DO ey 5ty ey, /R
(Fébads ey eoeyes), “Gisy s T80 $33C
shen 9, § £ D & JdSrdor
DB T HEo Hreh SHen T, O HP
AT & Darsomr shHen GOLToN.” %
BA FebSy @6 S shen §DDS @)
BIE 2605 e&rD Bdd GBS ) SR
508 10 Fops ewmmom. S Ofd
GO G0y TSy BNG Dok SR
DEYS GOTy HHOH DB Y DS
133 wond, TS oS ) TR
&) O ?

(1) 35
(2) 45
3 20
4) 25

808 HH)S QB0 A, & OMIS &
Derssryod P, Q, R <08aAw S oS
Dot arrom ol 0dd SO0 :

Al DA |

A p Q R S
n P
@ Q
3 R
4 S

2% BN F& 27, DHFBD &BIDBI,
&SEDTT D DTS, D02FTD D GOJ°)OIT,
)0 B, Farad BOHeTET 08N
ToHErEHD DEOT F& TIL. ©oNS
218 DGR BEHD & T(RAOS HONIDID

(ATIMS) [2r800TEd ?
1

(2) IO

(3) - DoFDd

4) DIB

»
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(10)

15. If 808 x 8008 x 80008 = A and the sum of all [15.

the digits in the A is M, what will be the value

of\/ﬁ?

-

(o]
808 x 8008 x 80008 = A HOAI A SV &)
908 Sn$o M @ond. VM 3Tng), dens
DOeh @9)eH0 ?

(1 8 1 8
2 12 @ 12
® o 5 o
@ 4 4) 4

(Directions for questions 16 — 17)

There are two series given below, of which one is
complete and follows a certain pattern. Based on the
pattern of the complete series, find the answering
term in the other series with missing terms marked

(16 - 17 (5%)) @3 AvreIaiev)

& 1805 Bo ©ogrs (FRED RS FDGFTOW,
TS 2,883 FrPonod HBAW APR ST D
9OVB0SDB0B. J8 Hogrs 33 DOV T30y
Sk eodorr,  S@Sreod 1ot

by alphabets.
. B)FONS HTOS RBS HOI°S BeneS’ DT
16. Which number will come in place of D in the HEQ), EOFI0B.
following ?
4 25 169 1009 5041 20161 | -
. ¢ 2
6 A B c - B 16. (800 63" D FS0S” HTh) DOPS A !
4 25 169 1009 5041 20161
(D) 7827 6 A B C D E
@ 8394 (1) 7827
(3) 8401 (2) 8394
(4) 8514 (3) 8401
_ 4) 8514
17. Which number will come in place of E in the|
following ? 17. (308 38S E FH0S St Q0§ O ?
4 7.5 2125 77875 354:9375 1957-65625 4 7F 2i%s TIETE 3540
5 A B C D E T : D375 195725625
(1) 21842 (1) 21842
(2) 21145 (2) 21145
(3) 22825 (3) 22825
(4) 24194 (4) 24194

el
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18.

19.

20.

(11
Amit has to travel distances of 66 km, 88 km
and 110 km on three consecutive days. He
travels with the greatest possible constant
speed (in km/hr) on all the three days so that
he covers the respective distances in an
integer number of hours on each day. How
many hours will it take him to complete the

u.oﬁ.nm% fs

(1)
(2) 12hours

8 hours

(3) 22hours
4) 94 hours

1f pKq meansp+gq
pLqmeans p—q
pMg means p X q
pNq means p +q
which of the following equation is incorrect ?
(1) 5K3L4M6N2 =—4
(2) (8M7)M(7K5)L(6N3)N(3L2) = 670
(3) BHK6L3M4NS8 =9-5
(4) 30N10K4M2L2 = 15

A pipe ‘N’ can fill a tank in 1/4 hour and
another pipe ‘M’ can fill it in 1/6 hour. Both
pipes are opened to fill the empty tank, but
after 1/15 hour a leak developed in the tank.
The leak alone can empty the full tank in just
1/12 hour. If the both pipes were opened at

9 pm, then at what time will the tank be
emptied ?

(1) 9:20 pm
(2)  9:30 pm
(3  9:25 pm
(4)  9:40 pm

)

18.

19.

20.

o]

OWE K Jaychy Feren 66 80, 88 8

LB 110 82y 4350 (DATBOTO. @D

S Bareres AredsE0e B0y PERD

S0 (/50 (HOSTEBR, FTQ 08 DOWS
oo Hage~ H0D0HS AT O
OS5  Fotoerd. |HDOFET) I8
TADETAE wsDE dJ) B0 DO
DO ?

(1) 8 Koedyen

(2) 12 Boeyew
(3) 22 Koeyen
.?c 24 Kodyew

pKq @0® p + g
pLq ®0®p-q
pMq ©0T) pPXq
pNq@O®p2q ONS
&3 (808 JNEBeTS” DO 9. ?
(1) B5K3L4AM6N2 =-4
(2) (BMT)M(7K5)L(6N3)N(3L2) = 670
(3) 5SK6L3M4N8 =95
(4) 30N10K4M2L2 =15

N oD DY 8 ersosSd 14 Ko
DODBEDR DO HTE DY M, 16
KO DODKDX. 27 Er$05 JoNT8

Bo YN BS1FQY, ©@ons 1/15
Kotyy esorged  ersosS  ad  So(gSw
DSBS, 3300 & SO0 PSR 112
K0S 8 erso8H 278 BNOH. TS 9
KOG BOM DI BBR), O IS

&3 3505 27 €908 ?
(1) 9:20 pm
(2)  9:30 pm
(3)  9:25 pm
(4)  9:40 pm

T'QE‘thU U pS 1 23 ' “b Scanned with OKEN Scanner
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21.

22,

23.

(12)

f... -
Rajani has a digital watch that shows time in |21

a 24-hour format. The

tme on the watch
After passing ‘A’ minutes the
watch shows the time in such g way that the

shows 23:45.

four whole numbers are again arranged in

ascending order from left to right. Then what
will be the value of A x A ?

(1) 7569
(2) 8464
3) 6724
(4) 9604
If E * F means ‘E is the son of I’ 29,
E + F means ‘E is the father of F*
E > F means ‘E is the daughter of F°
E < F means ‘E is the wife of F’
which of the following pair of people
represents first cousins with regard to the
relation given in the expressions, if it is
provided that H is the sister of P ?
Q>R<P+S and M*H<I+J<K+L
(1 QH
@ MS
G 23.
(4) MK .

. between Q and P. Identify those two readers

In a hostel room, five people P, Q, R, S and T |
read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
has taken it from P. T is not the first or the
last to read the novel. There are two readers

between Q and P in the same order.

(1) RandS
(2 RandT
(3) TandS
(4) SandT

canner

620 &6 a8 &GredS T &os ..
24 (102© 7T eSS’ HSHOIT, By

TS @I DO 23 45 ST,
DWITOD TS SBT3 SHY e %
JOPIED A Do&  S&E @flpe

@NEIVGES Do T Sdairs
Arehod. @ond AxA p

>

A\

a
VD O

G« s

ta rgetgroups123. “b Scanned with OKEN S

©:)e08 ?
(1) 7569
(2) 8464
(3) 6724
(4) 9604

E*F @S E @0 F &gy Ho8rdcdy’
E+F oJr ‘E @0t F B0y So|&

E>F o3 E @0t F Bwd}y 0570

E<F 3™ E @0t F B0y erds eoons
H QP 3308 &S0 HOHESR, & Bock

55888 s Do0oeS
H020B0D 180 oS D W
rAS;ede (first cousins) €Y A ? ...1..._,

Q>R<P+S H8a» M*H<I+J<K+L Mv
1) QH

(2) MS ._.“..
(3) ML - E
(4) MK ~

2,8 S KOS, DcntHS $5589ed P, Q, R, S m_

O T 28 IS0 BDHTH. S0 O

WAL IOIS B8 T S R § %
BT, SO DIST SADS I8 TAIP
OB BNH0EFE. T S5 WHAS Iwes A
B DN 358 520, Q HOASH P S0 2D w

DBREN G, Q HOAM P ds &)

AdE  FEHOD ©F SHI  (Znod W
H8oB0A&.

(1) RSO S

(2) R &HBAM T

3) T 805 S

(4) SO T
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24.

25.

A} i . y 3
Consider the following statements :

.. An equilateral triangle in a circle will
have the maximum area compared to

other triangles inside the same circle.

1. If the height of an equilateral triangle is
10 cm, its

1003
3 cm©.

area will be equal to

III.  If three sides of a triangle are 5, 12 and
13 cm, then the circumradius of the

triangle is 25 cm.

IV. Scalene triangle is a triangle with none

of the sides equal to any other sides.

Which among the above given statements are

correct ?

(1) 1,1 and III only
(2) L IIand IV only
3) II, HHH. and IV only

(4) All the above

The sum of all the three-digit natural
ch on being divided by 5, leave a
1 to 4 is XXYZA. What is the

numbers, whi
remainder equa

value of Y+ Z ?

1 9
(2) 2
3) 14

(4) 18

(13)

24.

25.

A

&1 1806 (DEESEE) HOAEIOSO

L 28 $y806 H5eriy esehhzo @iy
S9B0FD wdd | BEerod SO
563 Barergd), $ON czoenod.

~

I Sderdo (832Hz0 3Ins) 2¢8) 10 cm

oS, R R3O0 SW\W cm?

€GOoeNOA.

-

ML | ®h@o TBwgy S hered 5, 12
28050 13 em ©ONS, (32030 SN
HENTereh FSIPGO 25 cm GOELVOX.

IV. 0,88 820230 (Scalene triangle) &
Zheren D BSBS erO8 PONVNTelox

&0OC8a).
2 DS HEOIOS QYO BII ?
(1) I II 0805 H NGRS
@) I I8 IV E_,_fmwwu
(3) I, TII 005 IV Sr(e5ad

4 B

5 2rROTRGINIW, 48 JIrSDS FDo
PAOT @) S 0T JI QOPIV
Z0e0 XKXYZA. @008 Y + Z DN 0 ?

(1 9

(2) .m :
(3) 14
(4) 18

r_ . e
QE‘thU U F_JS 1 23 ' “b Scanned with OKEN Scanner
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(Directions for questions 26 — 29)

Read

answer the questions given below :

the following instructions carefully and

Nandu and Mohan decided to sell their Apple 6
Series watches each at ¥ 42,000 to Karthik and
Ganesh respectively. In each case the selling price of
T 42,000 was arrived at by increasing the cost price
by 25%. While Nandu gives a discount of 10% on the
first ¥ 12,000, 8% on the next ¥ 16,000 and 5% on
the rest to the buyer Karthik, Mohan gives a
discount of 8% on the first ¥ 16,000, 7% on the next
T 8,000 and 5% on the rest to his buyer Ganesh.
These discounts were however subject to the
condition, that the buyers make the payment on
time, failing which the discount gets reduced by 1%
for every delay of a week.

26. If Nandu and Mohan got all the payments on
time, what is the approximate percentage of

profit of the person getting the higher profit ?

(1) 14%
(2)
(3)

4)

21%
17%. |
9%

If Karthik defaults to make payment by 1 and
2 weeks in the second and third payments
respectively, what would be the profit of
Nandu on the sale of a watch ?

27.

(1) T 5480
(2 T 5545
(3) T 5,660
(4) T 5,740

(14)

27.

i

(26 -29 (55) @D ArISev)

& (808 rddod  @idmr SO
255226 (D3O8 d3rerdo @k 508 :

I(h‘

o)
X

S0 HBA TFEFS s Apple 6 DOV T,
2,52,8383 T 42,000 5" 5788 0O AER©S:

200 rgo° T 42,000 @30250 S8 HDYOL.
S0t [wKE T 12,000 10%, SDHO
T 16,000 8% HBA MADS D 5%
| SN0 NS SE55 Q3T IraTd e
FFeTd B8 IS T 16,000 8%,
SO0 T 8,000 7% 08O MADS AR 5%
S$H0DD VT, OB B SHOHED DSSBHOL
S2& GoLraw, Soffentrden Oseos” TOo
TohBo HODB, HS TS0 w8 Sfoy
1% e50He0A.

0%y SO TS DTS o)
FOoHen FoBIWS, WPOS” ¥y
erS0 SPoNBN) 58 TBwE) eres- Feo
QAT DO ?

26.

(1) 14%
(2)
(3)

4)

21%
17%
9%

505 B0t B SarchS 3OoHoS

v,
V.

&
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28.

29.

30.

31

Wmﬁm@m@%%ﬁhﬂmc:m in each payment by
the sale ,om aw mﬁMM W be the profit of Mohan on
(1) ¥ 5,400
(2) ¥ 6,200
(3) ¥ 6,500

(4) ¥ 6,800

What would be the difference in the profits of
2m:ac and Mohan if both the buyers default
in each payment by a week ?

(1) T 440

(2) T 464

(3) T 488

(4) ¥ 520

Madhu purchased a bike in the year 2024 at
the cost of ¥ 78,000. It depreciates in value,
10% the first year, 9-5% the next year, 9% the
third year and so on, with all the percentages
applied on the original cost of the bike. What
will be its value in the year 2029 ?

(1) ¥ 43,000

(2) ¥ 42,000

(3) ¥ 42,500

(4) T 42,900

der for ‘p’ number of

Neelima places an or
Sweet Shop that

sweets from Agarwal
produces ‘q’ number of sweets every day. r% of
the total number of sweets produced in a day
fail quality check and are discarded. What will
be the number of days in which the order will

be completed ?

)] :
100q(1 - 1)
©) 100qr
p
3 00
(100 - r)q
(4 100t

q(100 — p)

(15)

28.

29.

30.

31.

(0]

KB 198 30N TOHEAS 2 FTO e
OB wond, TS ©FS IS

SV €250 DO ?
(1) ¥ 5,400
(2) T 6,200
(3) T 6,500
(4) ¥ 6,800

W0 TOoDH Toh@S FFfenmd QD
& 380 B N OIS SO
5805 IS erere® ST oS ?

(1) ¥ 440

(2) ¥ 464

(3) T 488

(4) T 520

S0¢% 2024 D0SSIGOS T 78,000 B3 &8
BES Toffen Fme. (08 H05e5)80 BB
6 D Dend  SHSrA 00, J0¢5¢3
0058 )00 10%, LBHE3 Dodes00 9-5%,
005 H0Se8 )50 9%, BE CI0EY VLD wle
2 ) TEO S802B8, 20290
50581506 R Dend O @0 ?
(1) ¥ 43,000

(2) T 42,000

(3) ¥ 42,500

(4) T 42,900

5O (HBG2 g oS VEOD e )&
3% edorsd 058 D Dod P’ Homses
518508 agb SQod. (DS B cseh )
Fohohs IwBo RS 1 Jeagd
BIDS PO FEIADEHTON. 0N S
805 @ws, @b ) Fd O

@9:)e0d ?
1 —
100q(1 - r)
gy 100ar
P
(3) 100p
(100 - r)q
@) 100r
q(100 - p)
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32. Ther (16] . ek <
:;Sc are 5 members in the famil helg2. 28 mdmbomuo% 5, 0CN, o3I, 64
lames  Ravi, M;  family by the 32 3 5 000 JEgen G, 4t
Praveen, py zw::r Mahesh, Raghu and rouvmm © 4 SR B
o fil m.nmm:ém: Is taller than Raghu but not [oBeWY $0® muamwuﬂm e %y o = mm..\
but msew .mm:s. Mahesh is taller than Ravi eryT B J5erR 62 50T &y m;\
Raghu b MM than Madhu. Ravi is fatter than 5o WAV 5o® Musm%au GO 62 Gy ;
thinner th not as fat as Madhu. Praveen is £0T) AT nwaupmu SN Uo,\m.uu §7) AT
Reol an Mahesh, who is thinner than Sew. (DDED S2r0 0B AT Gy ¢ 1)
ghu. If they are arranged in an ascending o Syeren BN 0T O™ @ad‘m,“._ﬂf_
250 DOIOD By,

order, i.e., fattest to thinnest, who will come in
the middle ?

(1)  Praveen
(2)  Raghu
(3) Mahesh
(4) Madhu

(Directions for questions 33 — 35)

On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for
children. As a part of that, Keerthi, Joshna, Pallavi, ,
Rama and Swetha participated in a race. They got
different ranks from 1 to 5 in the race (1 being the

fastest and 5 being the slowest).

The following information is also known :

1. Keerthi is not the person who finished the
race first.
-pallavi didn’t get the 5th rank, but she

II.
finished the race after Keerthi.

11I. Rama finished the race after Joshna.

um of ranks of Keerthi and Swetha was

The s
m of ranks of Pallavi and

equal to the su

Rama.
I

Among the five girls that participated in the

33.
who was the last to finish the race ?

race,
1)
(2)
(3)

Swetha
Pallavi

Keerthi

fe————

)

e Zoen0 QO
5y 0y B Sdasy £

8008 (€Y &

(33 - 35 (35 © §00 AreSaSen)
sy Hodh DOLBHO AS 9 @Ff
085y OFIDAS e3¢5 55506 Q) O
ety eSen QB srord. 200’ erkorT TR
S 88, £, DO, 8, B FP L. a6
mg&m\w.\.auo&\m.lua% 385 50RO
Fomd (1 BS JHSoSDIE O
5 QoA GOD).

,, BT S T DSE ) GoDB s =
DI ST ? =

1) BB L.UHJ

() Saw ®)

3) Sord -

(4) SO NE

=

—

J..mu_

——

1

> VIS

L

&3 1808 J3rzrd0o e 8OV0H !
L 88 S0 Bl S0A0DN oS58 st

I SO 55 om0 B, s 80 &usd
B0 SHACDOA.

S0, ST 5 Sdy B SHAOD0A.

§8 S0y g8 orgoe IS0 I
0O B T°5050e> JNTE D3°d0.
mma% FEHY DoHE erdied, Q568
B SDAODS T8 DS ?

1) B
(2) M w\\
4

II1.
Iv.
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(4) Rama.

(4)



GS/1G/101

34.

36.

317.

If the sum of the ranks of Swethg and P

he s
is 8, then who got the 4th rank 2 and Pallavi
(1) Keerthi
Rama

(8) Pallavi

Swetha

?dosm the five girls, who could not have
finished the race after Pallavi ?

(1) Keerthi
(2)
(3)

(4)

Rama
Swetha

Cannot be determined

The ratio of Pooja’s age to Ajay’s age is 1 : 3.
The ratio of their ages after 8 years will be
1:92. How many years ago was the ratio of
their ages 1:57?

eY)
(2)
3
(4)

3 years
4 years
5 years

6 years

Bhaskar bought a piggy bank for his daughter
Kavitha. Kavitha started saving her money.

On 15t March, 2024 she saved T 1 and every
gnd March she saved T 1

ous day. Find the first
t the end of which

day starting from
more than the previ
date after 15t March, 2024 a

her total savings will be a perfect square.

(1)  10th March, 2024

@) 26th March, 2024
(3) 17th March, 2024

(4)  8th March, 2024

(17)

34.

35.

36.

37.

(o]
Ageh HBAsy HD oo SnEo 8
ONS, 45 T708 DG I GOTE) ?

(1 88

(2) 6%

3) DO

4) B

s rOEO, 0D STsS BOD
DI 8 TGOLB ?

1 88

2) O

(3) B

1)  DBoNO0IBO RSO 5°¢%

Syeer 005 9230 20 XS 1: 3.
8 oSS o ST 7O J0HX0) S
1: 2P GOENOD. D), HoSe oo 8ebo 70
$OHN) XY 1: 5T &O0BO ?

1)
2

3 D0eSHHT N

4 H05SJT°ED

(3) 5 D0NBHT°D

(4) 6 00T D

200 & B0k EDSLO 2.8 28 2350800

T . EDS &S %20 e DO

@&o&o&o@. 1 3578, 2024 &8 T 1 &
=208 2000 Lr0) 28 BO Dok Ded
B 53 SN Bz S0 T 1 JEFT
e D00, 1 ST8), 2024 SU7gS &S
=208 Fpdo D PSS O™
&08 IS B

(perfect square)

EFS0&.

1) 10 Sr8), 2024
@) 26 378, 2024
(3) 17 S5°0), 2024
4) 85570, 2024
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38.  Ja
V<MH- a s r .
custon .urovrmmvmh., initially haq «p peng, J
m:0ﬂ~ er UOCM,TB HO«\,M pens AWOB ” HTOD
€T customer bought  20¢, ow the

39.

then =¥ js:
17-375

1 4

@ 6

3) 2

4 8

~. ..
€Maining pens, after

Purchaseq 25¢,

nuqum. was Nmmfﬁ w
Mmany pens wer

that one more customer
of the Temaining pepg, Finally,
ith 270 Pens in her shop. How
e there initially in her shop ?

(1) 600
(2) 450
3 700
@) 500

A Preliminary tegt was conducted by a

recruiting agency  which  consisted of

100 questions. Madhuri takes that test and

attempts all the questions in it. For every

correct answer 1 mark is awarded, while a

wrong answer is penalized as follows -

1. One-fifth of the. questions  carry
1/10 negative marking.

II.  One-tenth of the questions carry
1/5 negative marking.

III. Remaining  questions will carry
1/2 negative marking.

Unattempted questions carry 0 marks. If
maximum and minimum possible marks
scored by Madhuri are X and Y respectively,

38.

39.

|

: T'QE‘thUU pS 1 23 ' “b Scanned with OKE

L=

205, cosrEacrdoren, SndE w Dy,
S0B. 2,8 9506 n Ho& 10% wc&uw@&.
ey oFC, doried  N0E 9508
DADS DAYOS” 20% T Tz |,
ST55 TE 90 DADS D) o 95,

SRR TR, DIGT, 80D &S S0t

270 AYew WArow. S S0
F0SE’ A DY e SR OW ?

(1) 600

(2) 450

3)
(4)

700
500

100 (%) & A (08 DB B(5¢Soh
DBY) T30 ABLTFONDR0B. SrH8 o
HOES FFA S0 @S @)
(D0 TR0B. (DS a.m&_ QTR
1 S8y 9S52C0R0B, ) DSPTTard8
&3 1808 DO 28557 DEOIEISIOA -

L 2085 doedh (Do 1710 SAESS
Q" B02e0 GOETQW.

L 58 Sod WO 15 JAes
BN GOErOw.

WADS (D)% 172 SRES NIV XS
CsOErQ.

I11.

B (HADB0TA (HFOF 0 STEyen
WOETQW. N8 FQODS KBA OO

EAR Sty en SEIM™ X 805 Y e0ond.
©3))CR W.wqw MISVNE

(1) 4

(2) 6

3 2

(4) 8
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40.

41.

In a classroom, a teacher asked, “How many
)

2-digit numbers exist which have the property |

that the product of factorials of its digits > the
sum of factorials of its digits ?” Then what will

be the answer of the students present there ?

(1) 56
(2) 63
(3) 64
4) 172
Krishna, Suresh and Raghava together

started a business with the initial investments
of ¥ 15,000, ¥ 18,000 and ¥ 20,000
respectively. After a year, Krishna and Suresh
increased their investments by ¥ 5,000 and
Z 2,000 respectively, while Raghava withdrew
F 5,000. After one more year, Krishna, Suresh
and Raghava increased their investments by
20%, 25% and 40% respectively. It was
decided that Raghava would receive 20% of
the total profit received by them for his extra

k and the rest of the profit would be

WoOr.
&mﬁiwﬁmm according to their investments.

After 3 years, the total profit received by t
53,400. If the extra profit received by
a was excluded, then find the ratio of|
of Krishna, Suresh E:t

hem

was ¥
Raghav
profit
Raghava :

shares

(1) 56:63:53
(2) 53:63:56

(3) 59:63:56

(19)

40.

41.

(4) 69:63:56

(o]

2,8 5K HOS' 28 GO “HoPIL
SEse B0 GHI8 > T @oSe BNy
SO0 BINB0, S08 ©FL0 G
29080 HOPLEN Q) GAES’ G0N &
AT @HI @FS Gd) DO
DAPTTO s ?

(1) 56
.@ 63
(8) 64
4) 72

&y, TR SO orss 8O T 15,000,
718,000 ~oBc%» ¥ 20,000 8025
2epaced T5rdo r80oTTd. 8
5058380 $Tge S 208050 T D
2EPHOD SO T 5000 HBAW
Z 2,000 DOV, ORWN Z 5,000
@vao%&o&o?aﬁg.u&m NFd ST 5
%332, KBR. SHOCK Tmaad SEO 20%, 25%
58050 40% eI 35 DO
2350tHEOTYED. T°Ned 05 €909:95) D g0
B8 SO IS0 erasodS 20% SO0
$580% ADS erFo >0 22EPVDO
D580 HODE SHhaweod @
JPonoiaGod. 3 D038 o0 ST,
F88 ©DoDS Ino ergo T 53,400. 00
FOBY @B erdo DSTFONOIES,
)3, 0B DO TR DW0E) AT

228 DRIV EOAI0%
(1) 56:63:53
(2) 53:63:56
(3) 59:63:56
(4) 69:63:56
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42,

£3.

(2

John has a piggy bank

D 74 arTQE 3
zo-paise, 50-paise and

which
L-rupee coins. There
AV .v.v R v 3

are 220 coins in all and the total amount in

the piggy bank is ¥ 160. If there are thrice as

many 1l-rupee coins as there are 25-paise
cows, then what is the number of 50-paise

coins in the piggy bank ?

(1 45
(2) 40
(3) 60
(4) 80

Sekhar delivered a 20 litre solution of milk
: 2 to Bhaskar.
Bhaskar removed 10 litres from this, replaced
it with pure milk and delivered it to Karthik
and Karthik repeated this process
delivered it to Varun. What is the ratio of milk
and water in the solution received by Varun ?

and water in the ratio 3

(1) 3:2
2 4:1
3 17:3
4) 9:1

In a new year party, out of the total guests,
60% are women. If 80% of the guests are
married couples (form a pair of husband and
wife) and the rest are unmarried, then which
of the following statements are correct ?

I. All men are married.
II. More than . 30% "of women are
unmarried.

Select the correct answer using the codes

given below :

contains |«

and .

0)

(1) TIonly

(2) IIonly

(3) BothIandlII
(4) Neither I nor II

43.

44,

QY]

{

gEth{J U FJS 1 23 ' ”t} Scanned with OKEN Scanner

o35G Cocd), 5 arcody ¢ 25

50-OCD  oNBAS  1-G3erow A
Gamow, ®ohE BNBo 220

™), 00 sNBA8N 9 ersofoeS Gy
5 160. 25-IO T 50y Ha:%e‘
TJEen 0D NISVESIN= I NS
2ys0f &) 50-RI0 TEO mo.ﬂ.m
bo@w

(1) 45
(2) 40
3) 60
(4) 80

395 3:2 DABS a0 58 20 DS ey

S8 O EORS (BT, DONES Trch,
27,6 @0t Hod 10 Oed 8,
T T30’ D53 IS T EO Hdafy
T sOEK e0B0T R HOA 56§ &

ATT)  IITHgB0 B S
0B0T. SHS @ONES) ([rSeod =
e BN De3 DN)E Doech ?

(1) 3:2

(2) 4:1

3 17:3

4) 9:1

£ H05$)50 FES, TS0 wBGHOS
60% DO DITED. 80% NOE B
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GOEFED) QB0 AN 7K DT arehdD
@O0, & (808 ForrereeS DR DB ?
L QAOO0SEr Ty .

I 30% 30® D80S XD0H Hardd
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45.

46.

(1) Brothers
(2) Nephew and uncle
(3) Both are first cousins

417,

(21)

In a kitchen rack, six boxes
top of another. The req hoy is jus
blue box. The purple boy mm. cc,p ,_,:v_(
and the green box, The ye box
the red and the b

are kept one op
above the
n the black
llow box is between

ack box. If th

. X. e —u .

numbered from 1 to 6 from top to Uogmwmmnmg
1, then

ﬁ:ﬁ\— QHAMOH ence Un\uﬂecmm—— __—m _va__ 10N _ e

of D3/2 2
1 4
(2) 135
(3 05
4) 32

Pointing at a boy in the photograph Bhargav
said, “The boy sitting on the left is the son of
the wife of the only son of the grandmother of
my younger brother.” What is the relation
between the boy in the photograph and
Bhargav ?

(4) Father’s brother

Consider the following statements :

I A Parallelogram having all the sides
equal is a Rhombus.

II. All the Rhombuses are Parallelograms,
but the reverse is not true.
III. A Rhombus may or may not be a Square,

but all Squares are Rhombuses.

Which among the above given statements are

correct ?
1)
(2)
(3)

I and II only
II and III only
I and III only

45.

(4)  All the above

46.

417.

(o]

&8 Jowhs @mng, oES w@d wten
25V 2863 GODDBEOD. DAY D
Q0 DY S G0d. &rer Eok W Sendy
O BN D NOY GOE. HNDY)
VD AANH B0 Sew) DY NS
GOO. DPew ok BodE 1 »ob
6 S85 BELoBAEB, GBIV VAW
AR NV FN0 g D500 D. OONS
D3/2 Qe Joed ?

1) 4
2 135
3) 05
@ 32

28 TOATAB0S &d) WL IO SO
P85S @er e, ‘DGR S0
@eryan & dwd DN 2,85 8
TR% s SHBY 'S Gd) 92008

08050 2R NS D000 DES ?

1)  FSden" £

@) Tosen 8ok S %~
(3) WL TATCHEN

4) SO FAB

&1 1808 HEDLSOD HONEIoN0 !

L ) DY DSIFS0T 0B Jr0dd
£5€80850)230 T0DR aYe0E.

@), TP0200eN HATOHS
BTN, TR o) IIrosd
25e5%50)25°eN TN 5°)).

TPORD DSSDOMT &GOGIN) B
GOGBEDIN) R @) WO
TPOVVEN.

23 ADYN (DEOIOS” D DBOD ?
(1) 18050 II Sr(edad

(2)  TIL B IIT ST

(3) 1805 IIT S(edadd

4) I

II.
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48.

49.

50.

(22)
An electricq) line
height 50 mete
one minyte he

Em:.:mm to climb on 4 pole of
;_.ﬁo fix the wireg. In the first
climbed up 5 meters, in the

he slipped g
o . bped down by 2 meters.
rther, he repeated the same process till he

MWEW& the top of the Pole. Then at what
180t was he at the 24th minute and how

many times did he j
ave to
reach the top of the pole ? il

(1)
(2)
(3)
(4)

41 meters, 12
39 meters, 11
36 meters, 16
42 meters, 18

mmbmmmﬁ invested a ‘certain  amount in e

Reliance Infra Private Limited which offers
compound interest (compounded annually) at
9% p.a. and an amount equal to 50% of that
amount was invested in Reliance Jio, which
offers  compound interest (compounded
annually) at 10% p.a. The duration of
investment for both the companies was
2 years. If the difference between the amount
received from both the companies is ¥ 6,965,
what is the difference between the sums
invested in the two companies ?

(1) T 7,000
(2) T 8,400
(3) T 7,900
4) T 6,600

50.
Kalpana’s project report consists of % pages,
each of 75 lines with 80 characters in each
line. The lines are reduced to 70, but the
number of characters is increased to wm per
line. What is the approximate change in the

number of pages ?

(1 -T75%

(2 -10%

(3 -12%
—14%

(4)

48.

Il t} Scanned with OKEN Scanner
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1) 41 eod, 12 o0
@ 39 e, 11 O
3) 36 0OD, 16 -
(4) 42 Muugmw,u‘ 18 m

%085 Sos HoTR) 00S) afy
23S OWBHES VEPDE DD, mamu_
5% pa SeHITS0 SAD (HOSSIOVI 3§ =
9% HPRS) @OORNOH DO ¢ 4=
06 50%8 DSTFSTO TR Reliance =
JioS B G, /8 10% pa
SEIFS0 SBD (D0SSITVE SG §9D
HSBS) @AV, BTok ooy - -
DEDDE SO 2 S0JS T, & Boch =
$0e ok FoOS TIE g -
S5T$00 T 6,965 WONS. & BOK S0
PG DS TS 035 B Joeh ?
(1) < 7,000

(2) ¥8,400

(8) ¥ 17,900

4) ¥ 6,600

J

.'l

wWw

S

SO0 (@rBF BNS® 40 ZyaSey, SO,
2.8 J08e 8o OETOE 75 B ).
283 Hodven QO 708 &0, 08T
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D -75q

2)  ~109

3) _199

4) _ 149
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51-

52.

53.

54.

N

A, B and C are hired for a painting job
working together, A and B can do a job 5.
12 days, B and C can do the same job in
8 days, while A and C can do it in 16 days.
Then how long will it take, if all of them work
together to complete the job ?

3 i days

(1 3

7 il days

& 13

7
3 12 days

5
7— d
13 ays

3)

(4)

The letters of' the word ‘ENTRANCE’ are
arranged in such a way that all vowels are
always written together. How many such ways
of writing the word is possible ?

(1) 1080
(2) 1440
(38) 1384
(4) 1526

a Wednesday, then

If 12th June, 2024 will be
gth November,

what day of week will it beon 1
2024 ?

1
(2)
(3)
(4)

Wednesday

Monday

Thursday

Tuesday

Umesh is standing in a pbus stand facing
the North-west direction. He turns 135°
anti-clockwise. After that he turns 45°

anti-clockwise. He finally turns 90° clockwise.
Which direction is he facing now ?

(1)
(2)
3)
(4)

North-west
South-west
North-east
South-east

(23)

51.

59. ‘ENTRANCE 3 AB0SR e

53.

54.

@]

2.8 230006300 HQ FHo A, B 20T € €&

DOTHEETY . A B0 B SO HO 3R
12 orereS® 1 TAHHnY, B H6a» € s
DA 8 EapereS Tovro, A 605w C
e 16 BarereS SAHHOD. @0 D
58 TohdE @oddyr SO 5
D0HSO0 DO ?

3.1 Garen

(1
13

7L Swen

2 13

3.1 Sren

() 12

72 Saren
13

(4)
) TN
AHEr O oy Do e TTe
oS T oD, 0O 2eNS0e3 DAO0
(FPONERE A, TR0 550y TON ?

(1) 1080

(2) 1440

(3) . 1384

(4) 1526

12 2575, 2024 2060 00, 19 dH0205,
9024 TG0 O T2 @)ed0od ?

(1) 2080

2) SFH>rdo

3) Hdo

4) Soligardo

&% 28 pT0ES TANSS &3S ot
Sy . @) @S 135° @IS &3S
DHEe. & ST @D 45° [POPOINY
AIS BhbErd. @dd DIG%  90°
55503 BHHEE. OB BNI® v
&3S &) ?

(1) P30S

2 e

(3) &S

(4) es)a%
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If 892 x 415 x 769 x ? = 1565676

will come in the place of ‘2’ ?

31, what

(1 618

(2) 496

(3) 484

4) 55

Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
the proportion 4 : 5: 6 : 7 : 8 and overall he
scored 60%. In how many subjects did he score

less than 50% of the maximum marks ?

1 1
2) 2
3) 3
4) 4

It takes Madhu 2t minutes to complete
Form-A which has k questions and 3t minutes

57.

to complete Form-B which has k/Z questions.
If Madhu answers all the questions, how much
more time does he take on an average to

answer a Form-B question than he takes to

answer a Form-A question ?

(1) 2tk

(2) 8t/k

(3) 4t/k

@ t/k

55.

56.

©
8:99 x 415 x 769 x ? = 1565-67631 ©OYE
P 506 HTH0) DD 0B ?

(1) 618

(2) 496

(3) 484

(4) 55

DSS 5 OBPOS® HOZ B HFeBAirged. (08
JBEoE0 HOA Sty e 2.8 DGO LOLTow.
& 5 OBHOS @8 Srdpen 4:5:6:7:8
DAIBS’ S0 HOAD IO SD
60% )5 T, @BH A dFPoS
BOQ Sy 50% 0T $¥0ysS &)
DA ?

1 1
2 2
3 3
(4 4

k (D0 &&) FEH-AD I8 THDE

DENE 2t AarEN DO B k/2
(0¥ &S) FEN-B 5°8 ToHEE8 3t
QLD DCB0A. NGV @) (DF) %
JAIFETIWR, @5  FESH-A (938,50
QITPEFI0 A8 SRS Hken Lo
FTOD-BRAIHN NIrTN0 Q8
TN Alok} NIV PSINVe\ Vo)
BNB0ETE ?

(1) 2tk

(2) 8t/k

(3) 4t/k

4) t/k

ned with OKEN Scanner
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A professor of pharmaceutical sciences in hi

classroom defines that the ‘half-life of a %.cum
substance is the time period in which the Qwsm
substance becomes just half of it If it MM
known that the half-life of a drug Adrenaline
is 800 years, then after 3200 years, 1200 gm of
Adrenaline becomes X. Which of the following

is a possible value for the sum of all digits in
X?

(1 12

Chandra is a confused typist. While typing the
numbers from 600 to 799 (both included), he
typed 8 wherever he was supposed to type 6.
Then the total number of times he had typed 8

is:
(1) 180
(2 230
(3) 320

(4) 300

Find the incorrect term in the given series :

193 140 97 62 35 16 5

62
97
140

193

58.

59.

60.

(o]

28 FoPAFIBES VBN ITTRI6 B TR
ErHS THS Do T, ©F ANV
@0t & Hrdo TAS o ST @D
DI0H Ss3E @ ABEDOTH. BGIDS
TAGO TE) T AW 800 DOJSIT™EN
©ond, 3200 Hodsyore Sorsed 1200
P00 | @IOS X ([0 ©95e0d.
806 &S X & ©) ©05w INTRS
T 50Tg DN DO ?

1 12

(2) 285
3) 225
(4) 375

S0l KodSHFoS Gd) 28 Y. 600
oG 799 ST &Y HoOWEDD D
FSLHYE  (Bodkre  Ze)NE), DN
6 LD TATOIS T 8 VD TF.
IR 953 8 HOWMS & WD) BRD R[nebo
QoS :

(1) 180

(2)
3)

(4)
& 1200 BIWAES FBS SHor &)
@02 $HBododb :

230
320

300

193 140 97 62 35 16 5
(1) 62
(2) 97
(3) 140
(4) 193
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Part B (i)
Science and Technology
Consider the following statements about
ARTSENS device : ol
L. It is a novel, non-invasive device to

assess the health and age of the neurons
and thereby provide early Screening for

central nervous system diseases.

II.  ARTSENS device was developed by the
National Institute of Mental Health and
Neuro-Sciences (NIMHAN S).

III. ARTSENS device is powered by a
proprietary non-imaging probe and an

intelligent computing platform.

Which among the above statements is/are

incorrect ?

(1) TandII
(2) 1II and III
(3) Tand I
(4) IIonly

A multimodal AI tool that can respond in 11
Indian languages developed indigenously by
w&mamﬁo_%e Seetha
Mahalakshmi Healthcare (SML) is :

ecosystem and

(1) Krutrim

(2) Bhashini

(3) OpenHathi

Hanooman

4

62.

@]
8 B ()
285,) @06 TS 0

ARTSENS 0880 (00D & (8og

(DEESOD H6KEB00s :

L @b Srgory edio 0ok o
308030 @oa FONERS DO
ST Bo B H§IY TV
0080 (Do @0H0BEVE
SOTEIT 28 S5O, TE-AT DS
Ho&so.

II. ARTSENS DHBETR) BASS
aSVersS 6D oS TE ok
Srs-II0  (NIMHANS) 0059 @
DOA.

III. ARTSENS HBEBOo (DT
TS-Ya28oh (5 NWeleaw)
200OB0  EoJrseSon TG0
T° S0 @8°8e50 TOHVR0AR.

2 DEOIOS” O/ €59, ?

(1) 180w I

(2) IIN805w III

8) I8 III

@) ISR

23S 230¢3 (BharatGPT) 555500 08050 Sewr
NI ATE (SML) wrso° BIohorr
©DIYQ TADDA 11 2PSEBOH  2raeE
DBI)000THO HYTreS Al )
80508 ?

(1)
(2)
3)
4)

Krutrim
Bhashini
OpenHathi
Hanooman—"

\
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NITL Aavog's ‘Meth: )
ALY Methanol l’““’“““l\" programme | ge "
’ o 6. onJed a0 5yt R\ & oy A d e '
’ 3035570 13315/ PONIOT MY POICHS IS Y,

1s atmed at
conl o el 4 s . 3 &
5005600 ()5))'/’./, f’_)";‘“:,('ﬂl») /A)/{//':JIJ/,G A

L. Reducing India's oil import bill, o 3% 8 5 P ey
ll ltl'ﬂlllk'il] ¥ (‘ 8 l "".)“( )('—’5(»‘;'/1 !,(II»I)JJCJ /,‘/-’u',;)!,‘f} 7,)'»2{»)( >/
emissi y weenhouse  Gas (GHG) SO G0
Mssion, A0LIC50.
L. Converti 1. Lfir'\ﬁ;)""{\) e (GHG) GO N
. .‘;l'“”lmg _C”“l reserves and municipal 4N0CHC0.
solid waste into methanol. 111 S(ﬂ) TNeycen SOOI ANDADS S
= . : 1 o O )OI sl 0
\\ ‘I ] ] ‘Orree « , . « = . A 5
'i(\'::l[b:[l::\ correct answer using the codes BT NS 57830,
:_: ) 3 v 4 :
EHS aS S FhO® GHOIrAo DB
(1) TandlIl only S 20SEOs
. ), DO ob:
2) 1le .
IT o805 11T (b

(3) IandIIIonly _ (2)
(4) I, Il andIII : 3) 1080w IIT Sr(ehad

(4) 1118050 I % =

g4. Which among the following acts as a nodal 64. (23 BHISHM Socs BIAHorm ©DS392
TS esBig D (S DNETGIGO

agency for sourcing of the Aarogya Maitri ‘
Cubes developed indigenously under Project g0 & (80D FES O SES BT

BHISHM ? HATR0E ?
(1) HLL Lifecare Limited (1) HLL 8930 OBb
(2) Indian Drugs and Pharmaceuticals 2) BORADS (NY 008 FoRE3ES)
Limited OWBE
3) Emergent Medi-Tech India Pvt Limited (3) ;3)353@05 HAEBE BoAAT (BIE
' . . . BV
(4) Biosurge Healthcare India Pvt Limited n ATFE T 56 @O BT L@é S
65. Which of the followi tat t i t OB |
) ch of the following statement is correc ‘ y y ,
regarding ‘Impatiens Karuppusamyi’, seen in 65. ‘WODNS)  FBDITNS '3855@ " er
the news recently ? . %0000, & 8obH 88 o8
(1) A new aquatic flora discovered by the $50250H0DS dB (D8O O ?
National Institute of Oceanography (1) SPFTFEDSD TSV 36
of Tamil IASS BIPOTFE & 5,0

(NIO) in Thamirabarani river
(NIO) 80 Feb 830 H598.23e0.

Nadu.
@) dsssongo b 628sS SerQES

(2) A new species of Hoof fungus grown on
P05 . @D oSy (BSD 50

plant  species discovered by  the
Botanical Survey of India (BSD in EHFIDES S8, THROR 288

Sathyamangalam Tiger Reserve. 270D HOHR T3, T 2red.

3) s Db 8ubsS @rersid
D85 @ o&ddy  (ZS) TS0
EORIDES TS 228 I ATV
(8)0. .

o8 SwoG0SBosr W 82058

(3) A new species of Bamboo-dwelling bat
discovered by Zoological Survey of India
(ZSI) in Madumalai Tiger Reserve.

(4) A new species of plant discovered by

researchers of Botanical Survey of India (4)
(BSD) in Kalakad Mundanthurai Tiger 7 SerES J0S @ 20508 (BSD
Reserve. HBTBEIEN D) TS 2 sy

— o
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66. sider ) :

MOSZQE ﬁrw following statements regarding | 6.

lobal  Shield against  Climate Risksg

Initiative :

1. Global Shield against Climate Risks
Initiative was launched at COP27 and it
is a collaboration between the
Vulnerable Twenty (V20) group, the
Group of Seven (G7) and other
supporting countries.

II.  The Global Shield will increase
protection for vulnerable people and
countries by substantially enhancing
Climate and Disaster Risk Finance and
Insurance (CDRFI).

Which among the above statements is/are

incorrect ?

(1) TIonly

(2) IIonly

(3) BothIandII

(4) None of the above

67.

67.

Which among the following in India have been
named as ‘Hope Spots’ by the International
Union for Conservation of Nature (IUCN) and

Mission Blue ?

bmwmrmmém.mﬁ Islands and Raghopur
Diyara Island

(D

Andaman and Nicobar Islands and
Keibul Lamjao Island

(2)

Andaman and Nicobar Islands and Diu
Island

3

Lakshadweep Islands and Andaman and
Nicobar Islands

4)

r

M
N
Q] |
"

FUU%DaGm.& HsBBLo Ay, e |

Yol Sty |
kg w.ymeG HoV0HOD & rmn> _,

s fod

HEESOD $HB5e30TI0B !

L FSIOED FUU%QGMG &memwmo?
Somyen TRS Fad Y o So 2
SoysmS 20 (V20 TS, (S o Y
235 (@7 K00 ASS Gy, O
G588 COP2TS @rE0DoNaG0s,

Fod 2O DHHNO (DT @@@oa,m

BITOD S8 AW 23Sray
sarcodot K00 FHS  wos -
G20 [or3)2 DTV ©0& O
23 )BSJ)(CDRFD o750 3Bvog@a W.J
©DI5D O  TTORH S
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69.

.

Consider the following stateme
Conference of Partije
Conservation of Migrato .

(e r m 109 * 1
Animals (CMS COP14) Y Species of Wild

L.

II.

III.

Which among the above statements are
correct ?

1)
(2)
(3)
(4)

Consider the following statements regarding
GSAT-N2 :

L

II.

II1.

Which among the above given statements are
Correct, ?

(1)
@)
(3)
@)

1G/101

(29)

nts regarding
s to the Convention on the

\ | .

The *AZ Session of CMS COP14 was
held from 12th ¢, 17th February, 2024 at
Samarkand, Uzbekistan ,

AN:W %Zm O,muyu.HA was convened under
the slogan “Migratory species connect
the planet and we welcome them home”.

O.gm. Om.uwufm was the first global
biodiversity gathering since the adoption

of the Global Biodiversity F
C BF) 2022, y Framework

I and II

I and III

II and III

All the above

Tt is the first demand driven satellite
mission that is fully funded and owned
by New Space India Limited (NSIL).

GSAT-N2 satellite will be lifted by using
SpaceX’s Falcon-9 rocket and is
scheduled in the 2°¢ quarter of 2025.

The collaboration of NSIL with SpaceX
was made due to the current limitation
of India’s rockets, which are lacking in
the capacity to lift large communication
satellites.

Iand IT
II and 111
Tand 111

L II and 111

69.

o]

G r — o = F 2% =5
68. E5)80S e DAGSE R0 e 59

@S (CMS COP14) B PO DAFSIFNE
JooHod)y &  |8od POLIAINISEN
HBHEBOOE ;

1.

II.

III.

CMS COP14 G3w&y 14 VA 2024
D6 12 08 17 HOL GEETS
S HBEoES’ 20A00.

CMS COP14 “DoieSd )R 35 &
TBE @06 D DD FO WD SN
DT S0E HIFHI0L.

CMS COP14, (2O e NN Y
38y (GBF)-2022:0 STTEODS ST 5ed
2BAS Do DD BIBIOS

HAFI%0.

2) HELIOS” D DD ?

(D
(2)
3)
(4)

10805 IT
10805 III
11 o8 asw III

D30,

GSAT-N28 50206500 & 1808 RIAINOIN
HBHEFOS0L

I.

II.

111

20 IP5 VYD BOBAF Ob&

(NSIL)8 3BwE) 8 dgoen SHBA

0372337 § FUESNES EORS

FoQTINGE BIF0E edd e

DA,

GSAT-N2 &Jsr0  SpaceX 3308y
FeS9 T8 oo & DoRS'8
HODDT YL LHBOS 2025 20
B350 Bd kS TaHDGOO.
rESB50S rd  SHTOBAS
EHBETOLD BWTF  TNYF0 G,
o8BS BIowS NSIL & | H33ro
€50 SpaceX ¥y dIs00
BNE0EN0D.

23 A0S (HEOIOS” A HBED ?

(1)
(2)
(3)
(4)

I 08050 II

I1 $005 111 1)/

I 0805w II1

I, 11 508050 I

argetar : N~
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70.  Consider the following statemep g - 70. G |EOLs (550500 W =
| 3
z e s v
IRt SR e I O B A ey | =
Statement [ : India  has tremendous  Solar (P8L1: GO i m
P o, o, 54 ﬂ\n\ m.. Lp0 P W
power nau:Qﬁ::CZ ﬁC:u::ML. ﬂw\uwbc\,«mm cJ \\\\\N e J /%, e
37 Z \|\|\( \\.\\\k\ N\\(y\ \\b\\\\\s\\m s T
Statement 11 : India experiences clear sunny (388511 : 27Ceb It SO _n..J_
weather for 9250 to 300 days a@‘.\o\U.Mulwwo 9250 530Cs 300 ‘\o\%n_n......,._
e
per year and thig exposure to Yooy Brrerd 505D e, U
7 /%
. “ (-
the Sun is estimated to he 5 =8 OSDAS s =
syertiod BELoTLGS Zrig
worth 5000 Tn kilowatt hour of ’ m
. . £ L . N 3413 Sl
énergy in a year over India’s H0Z550 0020205 iy, .._.mu
, _ @
land area. oio b &S oot )
= ” —_
4V
(Tn kilowatt hour). +—t
Select the correct answer using the codes W
given below : W
(1) Statement I and Statement II are| . AMS BS5ES FHEOKD &HTFAOD) 9B H
correct and Statement II is the correct . -
QATPTaTR) dotHE oA : o
explanation for Statement I. }
v —wa O
A (D80S T HOOAH (HES 11 ABda)
nd Statement II are s . Y
(2) Statement I a 0B8N (HEES T & (08 IT HT -
correct, but Statement II is not the NS5 mm
correct explanation for Statement I. |m
" . O
(2)  (DELS T 805 (283 IT 5B, 52 o
t I is correct, but Statement IT v, v . .
(3) Statemen (DEES T 8 (DES I DB D3Ge0 52D —

is incorrect.

.

B)  DEOSTHBIA, 320 (D8edcS IT 853

(4) Statement I is incorrect, but Statement

II is correct. (4)

@SOS T 855, 50 (D8ES 1T HBSE
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Consider the following statements | 3
N ents about Seed

Vaults
L Svalbard Global Seed Vault is a facilit
- \,
a remote  Norwegian
Island,

on
Spitsbergen

and
it is the world’s largest
secure seed storage vault,

lI.  India’s Seed Vault ig located in a
high-altitude mountain pass on the
Chang La in Ladakh.

III.  Indian Seed Vault is a Jjoint venture of

National Bureau of Plant Genetic

Resources and the Defence Institute of
High Altitude Research.

Which among the above statements is/are
incorrect ?

(1) IandIIonly

(2) IandIII only

(3) Il omly

(4) None of the above

Identify the new sites in India added to the
list of Ramsar sites on the eve of World

Wetland Day 2024 :
1. Karaivetti Bird Sanctuary

II.  Thol Lake Wildlife Sanctuary

III. Pichvaram Mangrove

IV. Magadi Kere Conservation Reserve
V. Bhindawas Wildlife Sanctuary

Select the correct answer using the codes

given below :

(1) IandIII only
(2) II and IV only
(3) IandIV only

(4) TIandV only

(31

71.

(o]

B A
>O0

‘f"‘l—)_-ﬁ

N o < : s
35S0 HEAH GOl !

‘H)(;‘, < 5 I £
») €O SI0 N g 4 .
MEZND Qoo f,-)‘(rll‘ j) (lu//' )l:) (1),

L — ’
8 STC) L

p
A

L. 2 sher) fayd

DI 0 5B 0
&.35306‘ DT HEN SANGO  minos,
OGN B DNOVOET @i %
DOE S0 b 8 3.

PR IR €
o
),_, el oy

I 2rdeTso a3 D& € ©&Gg) &)
R ereS® IBS HS S SrYod, HG
OB,

III. 080958 D& o0 ©I0 IASS
2 @D FosS BIeEF OV
OO BDVS) AT &
r-esDarsE  8VO) docswEorr
QB0TIPOW.

2% DI 1DELIOS” DB/DD €8 ?

(1) IO II S(ehad

(2) I8 III S|ed o’

(3)  II Sre(ehad

4) DD T

D20 ABE  Joo  OHSSIH0 2024
H0GBY0T TP0DD B DT TS
SB0NDAS  FOSBIoSR  ([FToTON
H8o0%0sk -

L $338 Do ©805rdeaso

72.

L 8O D80 S5 rene) e9airdeaso
L DLIS0 0 9Cso)eN

IV. SOKA 30 30 8208

V. DO SOYrene e923Asrdeaso
%S BI50AS FEOD GIJ/FAOD DO
DAPTTR), OO :

(1) 1805w III S3|ehadd

(2)  TI00CM IV Sr(ead

(3) 18050 IV Sriehad

4) 000 V Sr|ehad
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Consider the following statements about

‘Women Engineered SATelljte’ (WESAT) :

J: WESAT is the first Indian satellite to be
fully designed and developed by women
students of Lal Bahadur Shastri
Institute of Technology for Women,
Kerala.

II.  WESAT was launched aboard the
PSLV-C58/XPoSAT  Mission as one
of the secondary payloads on
15 January, 2024.

III. WESAT is meant to study how rainfall
refills underground water in rural areas
of India.

Which among the above statements are

correct ? ‘ '

(1)  TIandIIonly

(2)  IIand III only

(3)  Tand III only

(4)  All the above

Which among the following is the world’s first

country to propose a tax for agricultural

emissions to achieve the emission reduction
target by 2050 ?

(1) New Zealand

(2) Mexico
(3) Brazil
(4) Argentina

(32)

73.

74.

0

‘GDA V0BG 73BT (WESAT) %80, .
Bod (DEerSerd HBKBo0b '

L b aldrd 70 addew s et
o H6 ¢DS, TWESD g,
DrDOT O SIErodog, .
DA @DNYE TODES BN
2PSBaDH GO0 WESAT.

IL 1 2858, 20248 08088 DG«
2,863 PSLV-C58/XPoSAT  AS

WESAT (D33R0t G08.

I roS$B3oSR (T (o
SIS0 FrHS)  2ErOD  Jey
QOYHOE G0N0 TS

STE (WESAT) &330050308.
D HEOIOSS” DD HBID ?
1) I08a%w II mLésa)f
(2) I 6050 III Sr(es

I 0Oa IIT &35

239y

3)

(4)

& 808 8 2050 aymess &S hos)
OFLAY FPEAOTOSE D3I AD ST O

NNV DAOTTOR) (DSBS
(550505 Fvcses Fso HA ?

(1D Srg8eros

(2) ge*

3) (TS

(4)  eBoedye
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(33)
(‘onsider  the following  statoments nbout
Garbhini-GAL . 1™
L. It s v fies i
18 the first India-specific Artificial
Intelligence (AD model which accurately
determines  the age of a fetus in
pregnant women in the second and third
trimesters.
\ .
II.  Garbhini-GA2 was developed by the

researchers at the Indian Institute of
Fechnology, Madras and Translational

Health Science and Technology Institute
(THSTI), Faridabad.

Which among the above statements is/are

correct ?

(1) Tonly

(2) IIonly

(3) BothIandII

(4) None of the above

Identify India’s first indigenously developed
CAR-T cell therapy for which Central Drugs
Standard Control Organization (CDSCO)

granted market approval :

(1) NexCAR19

(2) TECARTUS

(3) IND YESCARTA
(4) BREYANZI-BH

To order Books visit : www.targetggouns.d 2 dky scanne

76.

(o]
Garbhini-GA2  ®600 B0 (15560
QOGO
L @b  Bodsd - N 3037C4I
BIr28os (8)8 (Red  DHOGo
- Q3w INTOMISVATNY ENARCIOlNE
Dowod IS ardaaH-0
891D T (A IrdS.
II.  Garbhini-GA2 O BOBIHNS BSVEITIE

D BSY0FE, DR HOAW AN
BAIS TG 1S) @08 VY 0L AS
2ersS  (THSTD,  HOerdSD
$65%5%0e0 @I TFH.

2 DEOIOS” QO DB ?

(1) 137D

2)  II SRS

(3) 10805 II Bocks—"
4) D3N 5%

ol TAY DIrEre  AAdo|Se oY
(CDSCO), &78p @JIrdo  Fodd
PO A OV WIAR WA BR0%H0IT
D50 TOHDAS CART S TI
Hdoodk

(1) NexCAR19

(2) TECARTUS /
(3) IND YESCARTA
(4) BREYANZI-BH
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Consider the following statements about the
indigenous Green propulsion system that was
successfully demonstrated in space on ISRO’s
PSLV-C58 mission :

L It was developed by Bellatrix Aerospace
Private Limited under the Technology
Development Fund scheme of DRDO.

II. Green

Innovative

propulsion system is an
technology which is a
non-toxic and environmentally-friendly

propulsion system for low orbit space.

III.  Green propulsion system is ideal for
Space missions with high thrust
requirement.

Which among the above statements are

correct ?
(1) TIand]IIonly

(2) II and III only

(3) Iand III only

(4)  All the above

Indian Renewable Energy Development
Agency Ltd (IREDA) has signed a

Memorandum of Understanding (MOU) for

innovation and research in the renewable

energy sector with :

(1) IIT Madras

(2) T Guwahati

(3) 11T Bhubaneswar

(4) 1IT Bombay

V4
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79.

Consider the :.::zii statements ;

L India  retained (he 4oth
Global Innovation Index

mnovative

position in
among the top
4 economies globally as per
Global Innovation Index (GII) 2023.

II.  As per WIPO Report 2022, India is
ranked at 7th position in terms of

Resident Patent Filing activity in the
world.

III. India improved its ranking to 6
position in 2023 from 79" position in
2019 as per Network Readiness Index
(NRI) 2023 Report.

Oﬁu

IV. India secured 4274 position out of the

55 countries in the Global Intellectual
Property Index 2024 as per the 12th
edition of International Intellectual

Property Index.

Which among the above -statements are
incorrect ?

(1) I IIandIV

(2) II,IIT and IV

(3) IIand IV only

(4) None of the above

India’s indigenous Prototype Fast Breeder
Reactor (PFBR) of 500 MWe capacity at
Kalapakkam was developed by :

(1)

(2)

(3)

(4)

Research  Centre

Bhabha  Atomic

(BARC)

Central Institute of Mining and Fuel
. Research (CIMFR)

Indira Gandhi Centre for Atomic

Research (IGCAR)

Bharatiya Nabhikiya Vidyut Nigam
Limited (BHAVINI)

(35)
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81.

82.

83.

( 36)

”./::.:f. the  following, identify the lead
”:—um:::::z which are in collaboration with
AGO Laboratory as a part of LIGO-India
project :
L. Institute for Plasma  Research (IPR),
Gandhinagar
11. Kepler's Observatory &  Research
Centre, Harvana
I11. Inter-University Centre for Astronomy
and Astrophysics (IUCAA), Pune
IV. Raja Ramanna Center for Advanced
Technology (RRCAT), Indore
V. Indian Institute of Space Science and
Technology, Thiruvananthapuram
Select the correct answer using the codes
given below :
(1) I,II and III
(2) II,IITand V
3) LIllandIV
(4) II,IIIand IV
Identify the spacecraft deployed by the NASA
to study the physical changes in ‘God of Chaos’
asteroid which will be nearing the Earth’s
orbit by 2029 :
(1) OSIRIS-APEX
(2) New Shepard
(3) Voskhod

(4) Pioneer 13

Who among the following is the first Indian
woman to get a Ph.D. in a science discipline ?

(1) Kamala Sohonie
(2) Anandibai Joshee
3) J anaki Ammal

#1.

82.

83.

(4) Maharani Chakravorty
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84.

85.

rn > S P . .
Ea smart, biodegradable, natural

polymer-based nanoparticles from renewable
resources for treating colorectal cancer were
developed by researchers of :

(1) Indian Institute of Technology, Mandi
(2)  Indian Institute of Technology, Bombay

(3) Indian Institute of Technology, Madras

Indian Institute of Science Education
and Research (IISER), Tirupati

(4)

Consider the following statements Hmmm&wbm

Sun Halo :

I Sun Halo is an optical phenomenon that
occurs due to sunlight refracting in
millions crystals
suspended in the atmosphere.

of hexagonal ice

II.  Sun Halo takes the form of a ring with a
radius of approximately 22 degrees

around the Sun.

Sun Halo is specifically produced by
cumulonimbus clouds, which are thin,

detached hair-like clouds.

I11.

Which among the above statements is/are

correct ?

(1) IandIIonly
(2) IIonly

(3) Iand III only
(4) 1I and III only

(37)
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86.

87.

J.
Consider the following statements :

Statemer . Yo , s
wl:  Coral reefs are often called the

‘Rainforests of the Sea’.

f4 2 > A v

Statement I1: Coral reefs break the power of
the waves during storms and
hurricanes, thus preventing|

coastal erosion.

Select the correct answer using the codes
given below :

(1) Statement I and Statement II are
correct and Statement II is the correct

explanation for Statement I

Statement I and Statement II are
correct, but Statement II is not the
correct explanation for Statement I

(2)

Statement I is correct, but Statement II |
is incorrect

(3)

Statement I is incorrect, but

Statement II is correct

(4)

Consider the following statements regarding

30 by 30 initiative :

I. 30 by 30 is a global initiative for
governments for ensuring that at least
30% of the energy requirements should
be met by renewable sources by 2030 to
achieve Net Zero target.

30 by 30 initiative was launched by High
Ambition Coalition (HAC) for Nature

and People.

IL.

India is the first among the BRICS
countries to join the High Ambition
Coalition (HAC).

Which among the above statements are
correct ?

1)
2
(3)
(4)

III.

I and IT only
IT and III only
I and III only
All the above

(38)
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g8, ldentily the Biosphere Rewerven in Indin, | 44,

which are not o part of Man and Biosphero
(MAB) Programme of UNESCO -

1. Nokrek Biosphore Rosoryve

11. Cold Desert Biosphore Rosorve

111, Khangchendzonga Biosphero Reserve

IV.  Dibru-Saikhowa Biosphore Reserve

V. Great Rann of Kuteh Biosphere Reserve
Selecet the correct answer using the codes |
given below : |
(D L Iand 1V |
(2) 1L, 1l and 1V

3) LIVandV

4) I, IVandV

89. Which of the following state’s online civic tax 89.

payment software suffered a cyber-attack
recently ?

(1) Madhya Pradesh

(2)  Odisha

(8)  Uttar Pradesh

(4) Tamil Nadu

90.
90. Which of the following programme by the

Department of Science and Technology (DST)
is to encourage and support senior women
scientists to conduct research in
interdisciplinary ~areas of science and
technology ?

(1) INSPIRE-SHE

2)  GATI
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1.

92.

II.

(40)

Part B (ii)
Current Events of Regional, National and

International Importance

Consider the following statements regarding

State Energy Efficiency Index (SEEI) 2023 -

L. Karnataka is the top performing state in
SEEL 2023 with an overall score of 865
out of 100.

II.  Assam and Uttar Pradesh are in the
‘Achiever’ category in SEEI 2023.
III. Andhra Pradesh is in the ‘Front runner’

category in SEEI 2023.

Which among the above statements are
correct ?

(1) TIandII

(2) 1II and III
(3) IandIII
(4) I,II and III

‘Sangam : Digital Twin’, recently seen in the
news, is an initiative of which Department of
India ?

(1) Department of Telecommunications
(2) Western Naval Command

(3) Eastern Naval Command A

(4) Department of Science and Technology

Consider the following statements :

L Indian Naval ships Cheetah, Guldar and

Magar were decommissioned on Hma,p
January, 2024. The decommissioning
event was conducted at Lakshadweep.

INS Imphal, a Project 15B stealth
guided  missile  destroyer  was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December

26tk 2023.

Which among the -above statements is/are

correct ?

(1)
(2)
3
4)

I only

II only

Both I and II
None of the above
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94. /<Eew of the following state topped the )
India Para Games 2023 medal Nwﬂo_o ? e Khelo | o4,
(1)  Haryana .
(2)  Uttar Pradesh
(3) Tamil Nady
(4)  Gujarat

95. In ,,.\Eor of the following places were new
mewomw colleges inaugurated by the Chief
Minister of Andhra Pradesh in September 95:
2023 ?
i, Eluru
II.  Vizianagaram
III.  Pulivendula
IV. Machilipatnam
V.  Adoni
Select the correct answer using the codes
given below :
(1) I, Il and III
(2) ILIIandV
3) ILIIandIV
(4) All the above

96. What is India’s rank in Logistics Performance 96
Index out of 139 countries, as per the World [
Bank’s Logistics Performance Index (LPI)
Report 2023 ?
(1) 44 (2) 24
(3) 38 (4) 47

97. Identify the company that launched ‘Pratham’
which is the world’s first no-code computer | 97.
vision platform :
(1) Assert Al
(2) Microsoft Inc
(3) Google
(4) Dell Technologies

98. Which among the following Space agencies
has launched its next generation H3 rocket | 98.

Eﬁo orbit ?

(1) Canadian Space Agency (CSA)
(2) Iranian Space Agency

(8)  Israel Space Agency (ISA)

(4)

Japan Aerospace Exploration Agency

(JAXA)
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99.  Which of 1
Which of the following be

country akK
Yo to make abortjg, 4 constitutional
right ? o

@)) Netherlands
(2)  France
(3)  Australia

(4)  Switzerland

100. Consider the following statements regarding
‘Operation Aspides’ which was recently seen in

the news :

I It is a defensive maritime security |
operation to restore and safeguard
freedom of navigation in the Red Sea

and the Gulf.

II.  Operation Aspides is a joint operation by |
Interpol and International Maritime

Organization and was launched on

19tP February, 2024.

Which among the above ‘statements is/are

correct ?
(1) Ionly
(2) IIonly

(3) BothIandlII

(4) None of the above

tame the world’s first | 99.

100.
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jo1. Consider the following

102.

r“nw 1 QG 101

(4)

statements regarding
DOSTI drill : . )

1. DOSTI-16 is a trilateral coast guard

AN T @ ' 3 3
exercise between India, Sri Lanka and

Maldives
dives 22 to 25

conducted
February, 2024,

from

1L The DOSTI drill was started in 1991 as
a bilateral exercise by the coast guards
of India and Sri Lanka.

III.  Indian Coast Guard Ship Samarth and
ICGS Abhinav participated in the
Exercise DOSTI-16.

Which among the above statements are

correct ?

1 I mbm II (2) II andIII

(8) IandIII (4) I,II and III

‘iOncology.ai’, an Artificial Intelligence (AI)
platform designed for the early detection of
breast and ovarian cancer, was launched by :

All India Institute of Medical Sciences in
collaboration with Centre for Artificial
Intelligence and Robotics (CAIR).

(1)

Dr. B. Borooah Cancer Institute in
collaboration with Centre for Cellular
and Molecular Biology (CCMB).

(2)

National Institute of Cancer Prevention

(3)
and Research in collaboration with
Artificial Intelligence Research Institute

(AIRD).

All India Institute of Medical Sciences in
with
Development of Advanced Computing
(CDAC).

collaboration Centre for

(43)

101.

102.

(5]
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103. Consider the following
CRITO 4 GOOD -

L.

11

I11.

Which among the above statements is/are
incorrect ?

(1)
(2)
(3)
(4)

104. Which among the following country’s Prime
Minister became the first Pacific leader to
address Australia’s Parliament ?

(1) Philippines
(2) Marshall Islands
(3) - Fiji
(4) Papua New Guinea
105. Consider the following statements regarding
- PACE satellite :
ik, It is NASA’s satellite mission to study

Il

Which among the above statements is/are
incorrect ?

(1)
(2)
(3)
(4)

statements regarding

CRIIIO 4 GOOD Is a series of 8 cricket-
based animation films,

A.:.::C 4 GOOD consists of new online,
life skill learning modules to promote
gender equality among girls and boys.

CRIIIO 4 GOOD was launched by
International Cricket Council, UNICEF

and Board of Control for Cricket in
India.

Iand II
IIT only
I and III

None of the above

ocean health, air quality and effects of
climate change.

PACE  satellite was  successfully
launched aboard a SpaceX Falcon-9

rocket on 8" February, 2024.

I only
II only
Both I and II

(44 )
108, ‘CRITNIO 4 GOOD’S Q020600 &,
§6305008) HOREBOS0s

105.

None of the above

104.

(&
I.

IL.

ITI.

w, C |

[SISTS

CRITIO 4 GOOD @30 8 (§5¢5.¢ -—
BFDZIS Dere (363, <
CRIIIO 4 GOOD SINITOWIN) &Vaow.
@&UQ&G% o &U%&G
|§65 327008 Fd 8BS, )
2,6 B6)00 SrearsS O $O%oa,
CRIIIO 4 GOOD @0STSAH (83¢
)5, UNICEF HOAN ZTEST o
885 do%olSed 20U oy
(D500 EO0E.

2 (HELIOS” JO/ID a)) ?

1)
(2)
(3)
4)

&3 DOHS TS’ (DO0NODS Inacses
DD TANBHB @ BFIE ToAS (D7

I 805w 11
III Soe( b
I 0805 111
B 5D

Soles ?

(1)
(2)
3)
4)

PACE &8 So230H500) 8od

DOD)SY

SRS Beyen

23

T 5 AQOST

(28I HBKEI0S0S -
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106. Constder the following L |y

I. The 1"

Commandery’

edition of (he Indinn

of
commenced on Mareh ::_. 2094,

Mavnl

Confereped 2074

11. Fhe  Government, of  Indin Iunched

ADITI scheme y i
I'l scheme to promote innovations in

critical and strategic defence technology.

I11.

Exercise Samudra Laksamana is o joint,
naval exercise between the Indian Navy

and Royal Malaysian Navy.,

Which among the above statements are

correct ?
(1) TandII
(2) IlandIII

(3) IandIIl

(4) I1,1IandIII

107. India’s first indigenous Hydrogen fuel cell
ferry, flagged off by the Prime Minister of

India, was built by :
(1) Hindustan Shipyard Limited
(2) Mazagon Dock Shipbuilders Limited
(3) Hooghly Dock & Port Engineers Limited

(4)

(A

Cochin Shipyard Limited
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Loy, (¢ .
© vonsider the followi
Ving stateyg
nenty .
Statement [+ T,
w1l The researchepg from i
. ! various
Orgamzationy
Bazationg have identified o
- ‘. - «

cies of :

es of :_:.::S:r. frog
urban
Karnatakg

new spe
in  the
r::_ma::c of
and

‘W
Sphaerothecy Varshaabhuy’

named it ag

Stateme 3
ement JJ . Sphaerothecg Varshaabhu get

ame from its behaviour of
changing colours from brown
to pale brown in the beginning
of monsoon season.

its n

Select the correct answer usin

. g the codes
glven below -

(46 ) ©

(1)

Statement T and Statement II are
correct and Statement IT is the correct
explanation for Statement I.

(2)  Statement I and Statement II are

correct, but Statement II is not the
correct explanation for Statement I.

(3)  Statement I is correct, but Statement II

is incorrect.

(4)

Statement I is incorrect, but Statement

IT is correct.

The initiative Mission Investigation@75 days,

which mandates investigation officer to
complete investigation of cases within 75 days

of FIR registration is launched by QE&H State

Government ?

(1) Gujarat

2)  Odisha

3) Bihar

4)  Uttar Pradesh
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g W ho among the tollowing have hoen nolectod 4 2l e e
to be the astronauts on Indin's first crowo | V10O, 2 ebe 5S40 304), Ae) PN STV :.‘ & 06508,
misston to space ! { ’ .\.‘n_\.r PP e :w\_\w.‘\.@..‘.. :.\._\\C\_\:\‘ y Byt
! Wing Commander Shubanuhn Shulkdn ST D5y e T ) SIT G 7
11 ’":_:_. »_.,:::_: 0 __:_:_:._,.__:::_ Nair | IAY 0 \I.\LJ :.\\. J \“L\Li\m\ \m\.h., -
UL Group Captain Panka) M. Sinha I AT 6 s 8. 23e8 ol ¢ O
Ry Group Captain Ajit Krishnan T 15 5" a5 H0828 D0, g
f \ s L ’ * ” - 7/ L
Vo Group Captain Angad Pratap IV, 5% 5w ev2ds Gpmdes =
Select the correct answor astng Alte codos V. 578 57 S ws OO \ 585700 ~ .
wiven below : B M clhs G s EBFHOD LB "
» > . O ») ’ ” 2 o -
(0 LIL Hland V Do), HOCHE 0l (N
(2 L UL IVand \ (1) 1,11, 111 snbosn V o
@& LIL Uland 1V (2) 1,111, 1V snbosn V .
’ ’
@ L1ILIVand V (3) 1,11, 11 nOasn IV —3
4) 1L IV 5H0csn vV~ m
hich s ] : . % ;. - —=%5_ <
111. .// hich among the _:__c?::x, is the first country | 111, & (80 ¢3S He EH0 @DHYE TS ()
in the world to launch the Malaria vaccine for LBOCST 58S by TF Torde o
children into its routine national =0vy & = Umwmw 1535235 @
immunization services ? 270N QNTLET 20 VD S e = ,mru_
«
300¢5¢3 B0 DO ?
(1) Botswana S0& (4]
(1) Serysar +—
(2) Cape Verde @ 9 Uﬂ W
(3) Cameroon (3) SRS —
i i 1) BIT(sE 6HE e & soft =
(4) Democratic Republic of the Congo S N . =

112, DS Do DB BrS ON@

112. Consider the following statements about NP (PM-MKSSY) Ko0D & |80d
Pradhan Mantri Matsya Kisan Samridhi v v ) ¢ -
Sah-Yojana (PM-MKSSY) : (DELSON HONEIOH0G : 0

. L 2 L) Soro wosd8sdn Moo =

i It is a Central Sector Sub-scheme under y B DS HOEDON "
the Pradhan Mantri Matsya Sampada Qoehyg A 00 . ) 0|Ba0O H

for formalization of the fisheries sector 288y BSFEAE DTS HOG 0SS o)

and supporting fisheries micro and HOHE 1805 BTO(E YO € DHTO. O
small enterprises. I @) OTred O Jo >rOS  [1)

II. It will be implemented with an ,@ao@ae&m 2023 - 24 08 J0NHIV0 -
investment of over ¥ 6,000 crores over a 403 2026 — 27 @@W UOU&UOO RN @

iod of next 4 FY 2023 - 24 v o

period of next 4 years from 33 4 HosS o oS T 6,000 §&

to FY 2026 — 27 in all States and Union - AS = T
Territories. ou@wb 20 ®deN D0 D. o

III. It aims to provide one-time incentive to I es5°580)0 N&UM&U Shien IS —
beneficiaries for purchasing aquaculture ODTHOR 8O EE AN
insurance. ©0QO0TI0 & @ 50.

| 28 AN IS DELSOS DD HBID ?
(1) IO I~ (2) II0ckw I
(4) 1, 11 50005 T

Which of the above statements are correct ?
(1) TIandlII (2) II and III
(3) TandIII (4) I, 1I and III (3)  I08a%w III
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L13. Which country recently declareq N Li
emergency due to oftshore oil gpjj) 9 Honal
(1) Peru
(2)  Puerto Rico
(3)  Northern Mariana Islands
(4) Trinidad and Tobago
114, W ¢ i
ho among  the  following  eminent
personalities are recipients of 58t Jnanpith

Award ?

i Sampooran Singh Kalra
II.  Jagadguru Rambhadracharyaji .
IIT.  Damodar Mauzo

m.m_mcn the correct answer using the codes
given below : )

(1)  Iand II only
(2)  II and III only
(3) II only

(4) Iand III only

5. Consider the following statements regarding
International Big Cat Alliance (IBCA) :

i, The International Big Cat Alliance is a

multi-country, multi-agency coalition of
‘96 big cat range countries, non-range
countries interested in big cat
conservation, conservation partners and
scientific organizations working the field
of big cat conservation.

The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a
one-time budgetary support of ¥ 150
crores for a period of 2 years from
2023 — 24 to 2024 — 2025.

Which among the above statements is/are
correct ?

II.

(1) Ionly

(2) IIonly

(3) BothIandII

(4) None of the above
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Identity the incorrect pair re

116. b i
and their field of activity whe

ﬁ::::ﬁ pers

i 3 » were confe

with the Sangeet N e
ate )

2023 : atak  Akademi Awards

‘1) " Qangy
(D LV Gangadhara Sastry — Music

(92)

Jagdish Gangani — Dance
(3)  Parikshit Mahato — Triba] Dan
ce

(4> Helen Giri — Folk and Ty

‘aditional Music

117. India’s w:..mﬁ spy satellite that is set to be
launched in a SpaceX rocket was built by :

(1) Bellatrix Aerospace Private Limited
(2)  Skyroot Aerospace Private Limited |
(3) Dhruva Space Private Limited

(4) Tata Advanced Systems Limited

118. “Z%%mambﬁﬁ Vishwakarma Pension
Yojana’, a special scheme to provide pension to
workers, street vendors, folk artists on
attaining the age of 60 years, was announced
by the State Government of :

(1) Haryana

(2)  Uttar Pradesh
(8) Rajasthan .
(4) Madhya Pradesh

119. Recently the State of Tamil Nadu banned the |

sale of cotton candy due to the presence of
which cancer-causing agent in it ?

(1)  Aristolochic acids
(2) Benzidine

(3) 1,3-Butadiene

(4) Rhodamine-B

120. Which of the following countries recently
became the 119th country to join the
International Solar Alliance (ISA) ?

117. 2D X O°8E o gor 19O

(o]

4
v gy b
29354 \\ec:

©a "l ?\.

% 7 4
& 4 ob
s \.\\\.;,.k o

R - A i 4
_w.C\L o .it‘k
Z P —
war e 2024 rolid S5 Do 0

- o : v pu o /
GonQE Lozols0l) m\a@b\? sc3),
HBood

. /
ASLALY)

(1) ED Korrdsd 4 — \gC“m.:mCs\

(2) 2665 K06 — a5

B)  DBEE ird — HBed G9Eio

) BS A8 - @O0 ESlolosy

oNEos Hohebo

Q8 @@Uw&&&p
ARISIAL ) BOEIBNE Kycerd i),
IS B0t ?

(1) BerE3E) BRI 125E OB
205876 BRI 36 OwBb

(2)
@) 5% DI DO PV
4) erey omwsSIb 29D OWB& =~

118. 60 DO JodS 500, HE argrdoeD,

20505 EFTEOE) DO €90O0TIONE

ENDIOE  FEN DR SBrade
DB5E DO, TR 1020 50 1HEE0D0L
(1) oo
2) GBS DT
(3) TBYS
) Ses DT
119. 9830 SVST R TR0 DTN ToNS D
)0 508 NBoS &IOS TR
235O AAGOVOH ?
1)  eoBEFSE essTen
2) BORE
(3)  1,3-20erG0NS
(4) BUD-B
120, 2S5O & 1806 TES @osTRN T
S (ISA)S TOX 119 TF0 6 ?
1) BB
(2) BTDAAF
3) QDO
4)  rgr

(1) Liberia
(2) Romania
(3) Israel

(4) Malta
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